xiE

AR -5 A= -BiE
5/26-5/27 FOIEAMBZEFEEBRS
& (5 FIEAF3ML
TR0 FELARFELEZEEBH AR IHIGIEERS
6/9-6/10 FERHIOFEEAM AT REFZEFIERSERARETFES
I\ (5B F]155kefhk /NEER

60kg#k = H26L
81kgih KFHR3NL
100kg#k Il O 2R
100kg#k FE241
100kgiB#R Rk 24

6/24~6/25 TRIEELHAZEZEEBKRE

IR [BFIx EXXFE 1EEEGE
6/30-7/1 ERHRIOFEEAIMNC 21T REREREFIERS
12 [ F])55kgi#k /N34

60kgifk = H3L
100kg#k JIlA1EIEE (T
100kg#k Rk 1EIEE T

8/31-9/2 TRHIOFEENMNEEREREFNEFERS
= (5 F)66kefk BHS3fL

73kgfk 3L
9/29-9/30 TEHIEELAARAFZEREAREIEFIERR
BR [5BF)66kehk 18H1[EEEGE

T3kgflk 211 [E]E LR
12/7-12/8 F68ENINMMR KEERE KRR

1R (5 FIEA3GL




